BULGARIA, 6100 Kazanlak,
® 31, Makariopolski str.,
gﬂiﬁw Tel.:: (+359 431) 622-22, 655-89
Fax: (+359 431) 622-23,
W”m e-mail: shipka54@mbox.contact.bg

www.shipka54.com

PUNTRE 38 BUCOKS HENRrEaHe
High - pressure fiffer

.

Twn / Type | o 1 F 6,3
1

| ExHacR NapaMeTpd [ Techimcal data

Hossranm: omeop f Mominal boras iH
HommHaness: qader | Morinal fow A7 dmimin 40
Craned & dunmpauns ¢ Momdeal degres of flralions 28 um
Hosamkianied dansarm-n [ Nominal prassaca B3 Mpa
HarpwaHd 18 OTeaprss HE nPSanaisan mnanrds 038 MPa

craciving prassurm of the milar vaha

. 110 @ 120

£x0 16

i

@ 95

[F] B9-[8/[25] [B)/[]
i sy

HomuHaney oTaop K- CTANEK /Wi vive;
MNominal bove .. - GBS KREnEk S withald vale
CTenar Ha fHrTpa e MOHTIH Hal NRoYa
Nominal degres of Mration, m for mourntirng on Stak

XuapaenwaHW dhnTpn | Hydraulic fiters a7



BULGARIA, 6100 Kazanlak,
® 31, Makariopolski str.,
gﬂiﬁw Tel.:: (+359 431) 622-22, 655-89
Fax: (+359 431) 622-23,
W”m e-mail: shipka54@mbox.contact.bg

www.shipka54.com

DUNTLP 38 BMCOKD HANAraHe
High - pressure filter [ |

I Wo—1
Tun ! Type i | F 16

-— b —
I |
|- P |
TexHwsacsw napamerpn [ Technical dals
HomwHanes oreop / Mominal bore 10 16 20 25 12
Hommeanes nefer | Mominal Row A3 dm'fmin 20 40 B0 125 200
Crenen we ganTpayws | Mominel degres of Mfretion 2810, 25 pum
HomuHanHo ransrese  Nominal pressyra 16 M
HanmAraHe HE OTBEPFEHE HE NPSONAIHMA KNanas 0.3, 055 MPa
cracking prassura of the rafiar valve
AROET ki GANTPAPELMA ENEMEHT 2 16 Mpa
Sirangth of e ey edemanl
HEnfrexse Ha 38MeRcCTEARE HE NOKEIBALLOTO YOTRORCTED 0.25, 0.5 Mpa
afar - conlral preEstre
]
,.5‘_'. :

¥
\ (
I
i
xI
1 L
F| |16]-|d,|/|10|-|18|/| T |/|K]|-| 1]7]...|-| 1|/|M]
DuTep METPHHE [LOnosd | pi
Filter mednic {inch] thread
H HAITATAHE He 3R0EACT B Ha NDKEREE U010 YCTponcTaen
Ng:_lw::;n :;:jrgﬂma slan - controf pressure: 1 - 0.25MPa; 2 - 0.6MPa |
BMf HE NOKAIEIWOTO yoTporcTeo £ [ype of the comlnol:
HDM':IHHI"EH aTeop E - eresTpusacks £ electical; V - suzyanno £ visual
Nominal bora ... = 583 NOKAIBALL0 YCTPORCTEO / withoul conlra!
Crenes va dunTpaumMs . HANAraHE Ha UTEIHJ‘ill-fB HE MPEONa3HWE KNanaH
Novrirer of filivation, M cracking prassure of the reler valva: 1 - 0.3MPa; 2 - 0.56MPa
HEMASIE HB NPSOnaseH KNEnaH | GUlt - i vave
FHGET Ha et TRMD SUiAn B M EHT K - ¢ knanad A wilh valve; | - Bas wnanad J without valve
Strengih of ttra filtar slemernt MOHTEM HA | P BG0NPOB0

an - ling maurding

Xngpaenndym doantpu | Hydraulic fiters BB



LA/
(/ /(1)) [5%4

BULGARIA, 6100 Kazanlak,

31, Makariopolski str.,

Tel.:: (+359 431) 622-22, 655-89
Fax: (+359 431) 622-23,

e-mail: shipka54@mbox.contact.bg
www.shipka54.com

Tun [MPME LR MHREEHE

Type Gonrgnﬁun Ci|A|h R | H|HI| K mhﬁnln
FA16-10M10-168/TH-1-1MG) | M18:1.5/G3/8" (10| 40 [ 25 | 20 178|141 85| 20
F 16-10110-18/TIE-2IM(15) M16x1 SIGHE" | 110| 40| 26 | 20 [192(141| 95| 20
FA16-10/25- 16/ TK-T/E-1/MIGE | M16x1.5/G38" [110( 40 [ 25 | 20 192|141 95| 20
F 18-10M1 0-168/ T/K-2IM(G) MAGx1 SAGHE" | 110 40 |25 | 20| - [141) 85| 20
FAB-10M0-18TK-2E-2/M(G} | M16x1.6/G38" (110 40| 25 | 20 |192[141] 85| 20
F 16-10M10-2T-M(G) MAGx1 S/GHE" | 110 40 | 25 | 20| - (14195 20
F 16-16/2 5-16/TK-1N-1/MG)| M22x1.5/G12° (10| 40 [ 25| 20 |215)178| 95| 20
F 16-1610-16/T/E-2/M(5) M22x1 5G| 110] 40 | 25 | 20 [230(178) 95| 44
F 16-16/25-16/TK-1/E-1/MIG) | M22x1 5/G1/2° [110| 40 [ 25 | 20 |230|178] 85| 40
F 16-16F10-16/TIK-2M(G) M22x1 SIG1UT [ 110| 40 | 25| 20| - [178] 95| 40
F 16-16/10-16/TK-2/E-2IM(G} | M22x1 5/G1/2" [110] 40 [ 25 | 20 |230|178] 95| 40
F 16-16M10-2T-M{G) M22x1 HIG1E | 110| 40 | 26| 20 | - |178] 95| 40
F16-20F2.5-16/TIKAN-1IMG)|  M2Tx2/G304" 110 40| 25 | 26 [280(243) 95| 40
F 16-20110-16/TIE-2IM{G) M272/G34" (10| 40| 25 | 25 |294(243| 95| 80
F 16-20725-16/TI-UE-1/M{G) | MZTx2/GAM4" |110| 40| 25 | 25 (204 |243] 95| 80
F 16-20M110-16/ TIK-2/1M{13) METx2IG3M4" |110| 40 | 25 | 26 | - |243) 95| 80
F 16-20M10-16/ T -2/E-2/M{G} | M2Tx2/G34" [110| 40 | 25 | 25 |264|243) 85 | B0
F 16-20410-2T-M(G} M2Tx2/G34" |110| 40 | 25| 25| - [243) 95| 80
F 16-20/2. 5- 18/ T/E-2IM{S) M2Tu2/G34" | 110 40 | 25 | 25 |204(243] 95| 44
F 16-25/2 S-16/TIH-1N-1/M{G)|  M3I32/G1"  |140| 50| 35 | 30 [303|266{125| B0
F 16251016/ T/E-2/M(G] M33n2/G1" | 140| 50| 35 | 30 |31 7|26611256 125
F 16-25F25-16/TIK-1/E-1/M(G) M33x2/G1" | 140| 50| 35 | 30 |31 7|266]125( 125
F 16-25010-168/ TIK-2/M{G) M33x2AGE1Y |140| 50| 35 | 30 | - |266]1256| 125
F 16-25/10-16/TIK-2/E-2/M( G} M3Zx2/G1" [140| 50| 35 | 30 |317|266]125] 125
F 16-25/10-2T-M(G) M3IT2/GE1Y  [140( 50| 35 | 30 | - [266{125) 125
F 16-32/2 5-16/TIK-1/-1IM{IG)| M43x2/G1 114" [140] 50 35 | 34 |343|308]125| 125
F 16-32M 018/ T/E-2IM(G) MAZx2/G1 1/4° [140| 60 | 35 | 34 |36T7|306125] 200
F 16-32/25-16/ T -1/E-1/M{G} | M43x2/G1 1/4" [140| 50 | 35 | 34 |357|306]125| 200
F 16-32010-16/ TIK-2/M(GE) MA3x2ME1 1747 |140] 50 | 35 | 34 | - [306)125) 200
F 16-32M10-16/TH-2/E-2/M{G} | M43x2/G1 114" [140| 50 | 35 | 34 |357|306|1256| 200
F 16-3210-2T-M(G) Ma3x2iGE1 174" | 140 50 | 35 | 24 | - [306)125] 200

XugpasnudHu olurrpk | Hydraulic filters



BULGARIA, 6100 Kazanlak,
® 31, Makariopolski str.,
gﬂiﬁw Tel.:: (+359 431) 622-22, 655-89
Fax: (+359 431) 622-23,
W”m e-mail: shipka54@mbox.contact.bg

www.shipka54.com

ltla.rrrhp 313 BUCOKD HanAraHe
High - pressure filter e

| —Jﬂfc}— i

I

[
Tun |/ Type i F 32

- LE

|

|

| DS

Texavack NapameTpy [ Technical data
Horsaranes ateop | Norginal Bore 10 18 20 25 32
HomeHaneH getar [ Momdnel fow A dmiimin 20 40 Bo 125 200
Cremed ki dhiantpauma § Nominal degree of Mimbon 2.6 10; 26 pm
Horsanarnsn wanarase | Nominag oressere 18 Mpa
Hamarane Ha OTHAPAME B NPENEHAA KNAnae 0.3, 055 M
aracking presgae of e ralier valse
FrooT e deanTprpaUmn enesesT 2, 16 Mpa
Sirength of the fifer alement
Hanmrare Ha Aa4EACTRAHS HE NOKEIRALEETD YOTPORETEG 025, 0.5 Mpa
afarf - conlrol presiure
Oy,
@ o
i
A
4
[
=
£ A

PR
—

H1

- 3 i .
Fl| [32|-a,|/|10]-|16|/| T|/|K]|-|1]|/]...]-[ 1]/ M]
TUrTLR METRpHYHA [Uonoea) pesta
mairic {fnch) thread
HeamMuHANHA HANEraHe HANFAHE HA SAASACTEAHE HA NOKAFRALOTD YCTROACTEO
Nominal presure sfant - control pressure: 1 - 0.25MPa; 2 - 0.5MPa
BHA HE NOKAIBIMITO YCTRORCTRG / fype of the condral;
HomusaneH areap E - ansmpuyeckn /emetical \ - Buayandn £ wisual
Nominal bore .. = Baa Noxassalln yeTpodcTeo ¢ without control
CTanas Ha unTpaLMA HanAraHe Ha_m_'a.aimn-!a Ha Np&aNamis Kranan i
it oF fiitration, jim cracking pressure of the relier valve: 1 - 0.3MPa: 2 - 0.55MPa
HAaMWYWE Ha Npeanasad knanad | Uil - In valve
ARDCT Ha UM TDMDA LWAR BRamMeHT K - ¢ knanad /£ with valve! ... - Gas knanad / without valve
Strength of the iter element = TR R T

arn - fine mourniing

Xaopaenw4aHiK dunTpi [ Hydrawlic fifers &0



BULGARIA, 6100 Kazanlak,

31, Makariopolski str.,

Tel.:: (+359 431) 622-22, 655-89
Fax: (+359 431) 622-23,

e-mail: shipka54@mbox.contact.bg
www.shipka54.com

LA/
(/ /(1)) [5%4

Tun M RMEREAHFRRHE
Type Conneclion DA | h bl | H|HI| K Q
o et fmiin
F 32-B/10-18TR-1NV-1IMG) | M16x1.5/G378" [110] 40| 25 | 20 |180[142] 95| 20
F 32-810-1 B TE-2MG) MAGx1 SIGHE" | 110| 40| 25 | 20 (193|142] 95| 20
FA2-B25-1 BTH-E-IMIG) | M16x1.6/G38" (110 40 | 25 | 20 |193[142] 95| 20
F 32-810-1 BTH-2/4G) MABx1 SMGHE" [110| 40 | 25 | 20| - [142] 95| 20
F32-8M1 - BMH-ZE2MWMIG) | M16x1 6/GHE" [110] 40 [ 25 | 20 |183(142| 95| 20
F 32-810-2/T-M{iG) M1Gx1 S/GHET [110| 40 | 25 | 20| - [142|95| 20
F 32-12/2 5-16/TIK-1N-1IMIG)| M22x1.5/G1/2° [110] 40 [ 25 | 20 215|178 95| 20
F 32-12/10-16/T/E-2IM(G) M22x1 5/G1Z° | 10| 40 | 25 | 20 [228(178] 95| 40
F 32-12125-16/TE-1E-1/M{G) | MZ2x1.5/G1/2" [110] 40 | 25 | 20 |220]|178] 95| 40
F 32-12M0-16/TMK-2IM(G) M22:x1.54E12 [110| 40| 25 | 20 | - (178] 95| 40
F 32-12M0-16/TR-2'E-Z2M(G} | M22x1.5/G1/2" [110] 40 | 25 | 20 |229|178] 95| 40
F 32-12M0-2T-M(G) M22:1 5IGHZ [ 1M0| 40| 26 | 20| - [178] 95| 40
F 32162 5-18/TH-ANV-1IMG)  W27x2/G3d" [110( 40 | 25 | 26 |280|243{ 95 | 40
F 32-18M10-16/ TIE-2IM{G) M2TR2/GI4" | 110] 40 | 25 | 25 |294 (243 95| 80
F 32-16/25-16/ - 1E-1M{G) | M2Tx2/G34" [110| 40 | 25 | 25 |204|243) 95 | 80
F 32-16110- 18/ TIK-2IM[ ) MZTX2/G3M4" | 110| 40 | 26| 256 | - |243] 95| 80
F 32-16M0- 18 TIK-Z/E-2/M{G} | M2Tx2/G3/4" |110| 40| 25 | 25 [294|243| 95| 80
F 32-1610-2T-M(G) MZTx2iG34° (110 40 | 25| 26| - |243) 95| 80
F 32-16/2 5-18/TIE-2/MIG) M27x2iG3M4" |110| 40 | 25 | 25 |204 (2431 05 40
F 32-20/2 5-16/TIR-1V-1IMG)|  M33x2/G1"  [140| 50 35 | 30 |305|268|125| 80
F 32-20/10-16/T'E-2/M(G) M33x2/G1"  |140( 50 | 35 | 30 |320|268)125| 125
F 32-20F25-16/TI-1/E-1IM{GY | M3Dc2/G1"  |140| 50| 35 | 30 [320|268[125 125
F 32-20M10-16/TIK-2IMIG) M3IB2/G1" |40 50| 35| 30| - [268)125| 125
F 32-20M0-16/TIC-2/E-2/M{G | M33a2/G1" | 140( 50| 35 | 30 (320|268[125| 125
F 32-20M0-2T-MiG) MID2/G1Y  |140[ 50| 35 | 30 | - [268(125| 125
F 32-26/2 516/ TIH-1NTIM{G)| M43x20G1 1047 |140| 50| 35 | 34 (245|308]125| 125
F 32-25/10-18/T/E-2IM{G) MaZe2iG1 1047 | 140| 600 35 | 34 (360(308{125( 200
F 32-25/25-18/TIC-1E-1/M{G) | M43x2/G1 144" | 140| 500 | 35 | 34 [360|308| 125 200
F 32-25M10-16/TIH-2/M(5) M43x2NE1 1047 [140| 50 | 35 | 34 | - |308[125] 200
F 32-25010-16/TH-2/E-2IM{G} | M43x2G1 1/4" [140| 50 35 | 34 |360|308]125| 200
F 32-2510-2T-M(G) M43x2/G1 144" |140| 50| 35 | 34 | - |308{125| 200

XugpasnwyHn dwntpw ! Hydraulic filters



